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PR S 0-2000 2350 — 280 2680

< o ER—IL MH I < o k—IL —
Ha H G-1800 2220 1820 300 610
R oJOwvs CB - K-1800 2120 1800 1400 3360
1800 wHoovy C B-1800 2120 1800 1000 2400
o1)—x ERJOvY CB * TBK-1800 1760 — 450 2470
PR S 0-1800 2120 — 280 2100

< o ER—IL MH I < o k—IL —
Ha H G-1500 1880 1520 300 470
R oJOwvs CB - K-1500 1780 1500 1400 2450
1500 wHoovy C B-1500 1780 1500 1000 1750
o1)—x ERJOvY CB * TBK-1500 1460 — 450 1680
PR S 0-1500 1780 — 280 1330

< L ER—)L MH T < o k—IL —
Ha H G-1200 1530 1220 300 340
PMP —II LEX 7]:1 v CB - K-1200 1430 1200 2000 2300
1200 HEE Javy C B-1200 1430 1200 1000 1150
AT ERJOvY CB * TBK-1200 1160 — 450 1040
FERR S 0-1200 1430 — 200 480
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